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Fr5 24 e HIE I H RAEHLK
1 fi e 31 0kskomkopkorkrk645 A AR
2 fRs 310%kskkkkkkk k%81 3 A W4
3 wEt 310Kk k%019 A 2R
4 5K 420kkskctsksketokokkk 4 37 A AR
5 FrE 41 Tsktsotsopontork 030 A TR
6 S A 33 0skkskeiokskokokekokokek8 29 A 4
7 ey SE:ig 31 Qskskstskskstesketokokekok 9 1 9 A AR
8 R A 31 Qskskstskskstesketokokokok 2.3 3 A AR
9 1R 31 Qsksksksiesketosketokokok8 1 4 A T4
10 H1E 34 2skskckskskstskokokokekok Q4 7 R1 AR
11 K e 34 2skskckkskstsketokokekok 688 R1 AR
12 N 31 Qskskstseskstoksiseskakok () 1 X R1 AR
13 1] dt 31 Qskstettekstestiskoksk sk 82 3 R1 R
14 e pETH 31 Qskskstsesketoskeokakok 73 1 R1 AR
15 B 34 2skskckskskstsketokokokok [ 18 R1 AR
16 =5 31 Qskskstskeskstesketokskaiok 4 1 0 R1 AR
17 o U U 310tttk k618 R1 AR
18 N 31 Qskskstsksksteskotokokekok 9 2.2 R1 AR
19 Fifi TN 31 0skskkkkrrkokokkk 71 () R1 %
20 25 - gy 31 0kskopkomkokrk5 1 8 R1 TR
21 e/ 510%skkkiokiok k569 R1 A
22 K2R 31 Qskskstskesksteskstokskaieok 4 1 7 R1 AR
23 [0 31 0skskkiokiok k06 1 R1 A
24 T 310kkskkrkkkk k71 1 R1 W2
25 JAi L 3l 31 0kskkskkkkokk k%216 R1 TR
2% i 1y — 330kskekclokk(032 R1 AR
27 Jo¥i B 4 31 0sksketctok k060 R1 AR
28 T A 31 0skpkkiokiokk3 10 R1 AR
29 VT E ¥ 42 Tkskstsketokskatokokokok§ 34 R1 AR
30 ¥ 31 Qskskstskskstesketokokokok 622 R1 AR
31 %2 31 Qskskstskeskstesketokskaieok () 1 0 Gl AR




39 gy 532%kskkkkkkk k%310 N1 TR
33 SR 342k KKK 32 N1 TR
34 R 31 0ssksketotiokk4 10 N1 AR
35 st 41 Dkstotoroookokk 337 N1 AR
36 SR 31 0kskokskokkkokk k%812 N1 AR
37 15k 31 Oskstotesketsteksietokekk 0 1 1 Q2 (HF=D T4
38 Qe 22 0skskskskskstskekokokekk 67 H Q2 (B0 T4
39 Ji5 B 310tk 6,36 Q2 (=D TR
40 F iy 31 0tk ] 14 Q2 (=D IES
41 28k 32 Iskskkaolootiok k9 1 ) GIR1 TR
49 FEw 622k kokkkdok k493 AN1 TR




